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I Semester B.A./B.S.W.IB. F.A.lB.v.A. Examination, March/April 2023
(2021 - 22 and Onwards) (NEp) (F + R)

SANSKRIT (Paper - l)
Sarga (Canto) of Valmiki Hamayanam

(Grammar and Comprehension)

Time :ZYz Hours

lnstructions:

Max. Marks : 60

1) Answer in Sanskrit,

l-r

2) Main Question No. 1, 6

Sanskrit.

t. qre-rreq;i $rf, I

Choose the correct answer :

"ioolnd en3d,il.t E:ol z;dcg:o :

t) s{fu*-rqqqfr sfu-< sT-di ftq i
A) q-{TtiRri B) {qqui c1 frwguui

2) niqq-iTqqui eq @ :

A) qfiq B) qT.S{

3) Ewrg,.iergt{q: m: ?

A) *{n: B) gftTB{:

4) ffiT €6 s: {q 3+TEoE ?

C) err*B-ql

c) e{ilirE:

A) rrro: B) d€{ul:

answered in

s) *-dr ep Ufr ?

A) qe,RQxq B) ftTes

o1 ffiffi:e: ?

A) q-*-i{q: B) {Q:

7) 'ggq Eq rJffi'' 6. ?

A) ffie{: B) trin:

B) {.f, EF-ru$r: s-FTi sr-& sfr i
A) q-Errma B) rqqu)

c) x3q;

c) w1-5s

c) ql€{frfu.

C) eqr{uT'

c) igqq)

D) {g.jnq

o) ffiq

D) Tio-g:

D) qqnq'

D) *{rqw

D) rnn:

D) *{H:

n) Sq.KsrrT+

{8x1=$}

P,T.O.
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lt g*: qpes-+wstur srrt frso ,

Write an essay on any one of two:

;;dmade a-odd: dJo$ i-,eJc6 dtoid{ w-dOi, :

1) *rrr-tq qnfrT"i grd I

Sketch the character of Srirama.

: --J-J 

-J 

- 6J 
^-JJ\ 

J- 6

d, YOo cNlJ r-v*] 6i91 L dc^JNJor enr) vu9.

2) qrr*fu 5t, tri-*ro-n5-clrl: I

Place - date - works of Valmiki.

;m 0re3 iJJAo3> ded - ae.r - r.8d$:.

lll. gd: cgft.q"fi fusa ,

Write short notes on any two :

^in:-(,-;4d^ &d6S) dJO3t e-j_.J !,3f f ]f,:d: Uda::0.\^.lJs.)\,-(rul"JLl-ucr.!q.

1\ rrqmurq t/\

2) *dT r

3) *{Ft: I

4) ilr(: I

lv.Tgurt{-disrflq c-jqq F-dT 
rlr"i ftqrqqd ,

Translate and explain any four stanzas :

oae.:: 5sedi19d) sd:maa, zE5*dJ rrb:J.
t'Tot'q.

i) dr{:HTeqrqfr{ii dqEl qlRqi e{{ I

ql{q qkqq-=B qffifu$ftgg'au lt

EFt$Erlsq-qi rtq'i qlq si: {d: I

fi"rnrrqT q-drmql gftrqTl e{ftqqffi 11

?ldA. {faq-s;elaq }qtqiqfrt {fl: I

qarcl FFrtTret: UHrq: qqrferqn ll
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(1x8=B)

(2xt1=$)

(4x3=12)
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4) q q{H e=i *t: sk{rq-Jqrf,q1 I

fr-Ed-qqfriflT( **?qr: fr{rfi{urd | |

s1 fo;-qzS'A rrt Si$-$Tg{+ner t

rrqr q{Rexe f qqrq fr-dqlgnq n

6) qsa-ws {l-{FI q} e-{-d: sd I

xqq)5rqFlq{ vd *nqg{-{qrqlq il

V. g*: q<,{ frgojn :

NP - 048

(2x3=5)

Explain any two with the reference and context :

c1Df;*:eEdco aCdS: dJo$ ic-{ri3og ,;b&.

1) s€d erwq-q-*d r

2) sEffi a{r{g: I

3) €hMq, I

4) dA rnd :+rrrNa: t

vt. {iFSd t+rqqr s-drrfrr floq-d r

\'
si)uqt+elcH {qirfll (rr'}qHlq) : (5x1=$)

1) tq

2) {m:

3) +a-d, 
*'

4) fle;qQh

5) st

6) qmel€{

7) efr'

B) '1=6'fr
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1) {-qq
. -t-. 

.

2) €tilqi

s) rrqt{

4) ft-rr

5) {*i
6) H:

7) tre:

8) dlE

vtl. Fi qftEd( qB-iqi yyilqqs.n frrg-d r

1) qrTt qrc rt.fl ga ar$q t

2) {rqT wn: fh q-dqk6( ?

3) qrng q-flTci s: a.r6det1 ?

+y ffi 9fr, &n 3r-{frq ?

,(\aa-\a'\nw) Io-S-fq:+fEil*q-{flf{ fsr*o | (qsry) :

gu 3r$rEqqi v.rfr aq {TqT 3ildq I gqifl u. 3rrqierqlri q--dttEq I n-Eef q:
q$Tyq 3i5qq I Eq frq"i Srcc{T, <q-<. qflqqq 3TT6-deq r d qrarri qtreT ffi He:

3'&d, afr.ogt: €qlq +ennnqt | {anqt $frv;n; {rn5-dr: qF s{-<,: qrf,rfrq

3uEsq t rx zr*rci 
EqeT 

q.ft--€ qq Ek Sfr q-er, a ri r6q6. 3ilqrerra:
3{k--Eq I d-qr $frt gf i} s$.n nq qqh. q{fr?dEq r 3ncT: ABr. Eqfr
'34ffiffioiqsrr@ Efr I

Iilililil Iilillilililtlllltiltfil

(5x1=$)

(4x2=$)


